Exponential Modeling

HPC/RPC

Students will be able

to apply exponentiol formulas

Ly

Common Exponential Functions {a.k.a. “Formulas”)

Interest compounded annually (or population growth . . .)
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Example 1

Krysti invests $2000 in an account with a 6% interest rate, making no other
deposits or withdrawals. What will Krysti’s account balance be after 15 years
if the interest is compounded:
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a. Annually?
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c. Continuously?
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Exponential Modeling HPC/RPC

Students will be able to apply exponential formulas

Example 2
Krysti invests $2000 in an account with a 6% interest rate, making no other

deposits or withdrawals. How long will it take for Krysti’s account to be
worth $5000 if interest is compounded:
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b. Continuousiy?
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¢c. What interest rate would Krysti need in order for her account to be worth
$8000 after 20 years, if interest is compounded annually? Continuously?

00w = 2000 (| + Se)
q*’(\!f’!’()zo
zﬁr _bzoﬁ;; ()zo

0= [+

— i

-y

0.012=
(osud-1-2%6




